Wednesday, September 18, 2024 A

EE 381 Electric and Magnetic Fields Quiz #2 (Fall 2024)
Name /<¢/y ﬁ

Instructions: Open book & notes. Write answers in indicated spaces and show all work for credit.

For the circuit shown, the generator, Vo= 7£0°V & Z,= 248 Q, operates at a frequency of 1.1 GHz. Itis
connected to a lossless twin-lead transmission line where Zo= 380 Q, u=2.244 x 108 m/s, and £ =14.3 cm.

The load impedance is Z; = 178 — j65 Q. Calculate the phase constant, input and load reflection
coefficients, input impedance, and SWR for this circuit.
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Express reflection coefficients in polar form, e.g., AZ0 (deg), & impedance in rectangular form, e.g., R + jX.




Wednesday, September 18, 2024 B

EE 381 Electric and Magnetic Fields Quiz #2 (Fall 2024)
Name ’/(e/v K

Instructions: Open book & notes. Write answers in indicated spaces and show all work for credit.

For the circuit shown, the generator, Vo= 520°V & Z,= 388 (), operates at a frequency of 1.7 GHz. Itis
connected to a lossless twin-lead transmission line where Zo =380 Q, u=2.635 x 108 m/s, and £ =21.3 cm.

The load impedance is Z; = 138 + j95 Q. Calculate the phase constant, input and load reflection
coefficients, input impedance, and SWR for this circuit.
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Express reflection coefficients in polar form, e.g., AZ0 (deg), & impedance in rectangular form, e.g., R + jX.




